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CF= (1039.00)*/4x3

CF=1079521.00/12

CF=89960.083

Total ss = (Y11)? + (Y12)? + (Y13)% + --- (Yij)* — CF

TOTAL SS = (86) > + (86.33) > + (86.33) *....

TOTAL SS =90117.89 - 89960.083

TOTAL SS = 157.8056
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treat ss = CF

+ (82.67)> - 89960.083

R1 R2 R3
258.67 | 8500 | 8633 | 86.33 T1
27533 | 9167 | 91.67 | 92.00 T2
260.00 | g500 | 8667 | 87.33 T3
245.00 | g533 | 8200 | 8267 T4
1039.00 | 344.00 | 346.67 | 348.33

CF 4 7 An
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treat ss =
treat ss = (258.67) ° + (275.33) > + (260.00) * + (245.00)°/3 — 89960.083
treat ss = 66908.44 + 75808.44 +67600.00 + 60025.00/ 3 — 89960.083
treat ss = 270341.89/3 — 89960.083

treat ss = 90113.96 — 89960.083

treat ss = 153.8796
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Error ss = Total ss — treat ss
Error ss = 157.8056 — 153.8796
Error ss = 3.925926
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S.0.V d.f S.S M.S F Cal F Tab
treats | 4-1 =3 153.8796 | 153.8796/3 = 51.29321 51.29321 /0.490741 | 4.07
error | (12-1)-(4-1)=8 3.025926 | 3.925926/8 =0.490741 =104.522** 7.59
Total | 12-1 =11 157.8056
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